

Payment Ter	rms: NET30 Freight Terms: PREPAY AND ADD	Ship Via: VNDR	PCC: A Date: 10/28/15	PO Method: A	T Dispatch: Dispatch Rev Dt: Via Email			
PLEASE NOTE: ADDITIONAL TERMS AND CONDITIONS ARE LISTED AT THE END OF THE PURCHASE ORDER.								
Vendor:	TIBH INDUSTRIES INC 1011 E 53RD 1/2 ST AUSTIN TX 78751-1703 United States			Ship To:	See Detail Below			
Vendor ID:	1741976051							
Purchaser: Phone: Fax: Email:	Jeffrey S Kushaney 512/465-4181 512/465-5641 Jeff.Kushaney@txdmv.gov			Bill To:	4000 Jackson Avenue Austin TX 78731 United States			
				Fax: Email:	DMV_FIN-INVOICES@TxDMV.gov			
PO Inform	PO Information:							
S/B PO #16014103								

Line-Sch	Line Description	Class/Item	Quantity	UOM	Unit Price	Extended Amt	Due Date
1-1	Notes, Self-Stick, 1.5" x 2", Yellow, 100 Sheets/Pad, 12 Pads/Pk, Skilcraft SP #61562381501	615/62	3.0000	РАК	4.58000	13.74	11/13/2015
s		ast Hwy. 80 a TX 79761 States				Schedule Total	13.74
				<u>Req</u> 0000	<u>ID:</u> 0001984		
					Item	Total for Line #1	13.74

Authorized Signature Gekushaney, CTP

<u>11/05/2015</u>

Page:	2	of	4

Line-Sch	Line Description	Class/Item	Quantity	UOM	Unit Price	Extended Amt	Due Date
2-1	Notes, Self-Stick, 3" x Yellow, 100 Sheets/P Pads/Pk, Skilcraft SP #61562384000		3.0000	РАК	9.39000	28.17	11/13/2015
	Ship To:	1P19 3901 East Hwy. 80 Odessa TX 79761					
		United States				Schedule Total	28.17
				<u>Req</u> 000	<u>ID:</u> 0001984		
					Iten	n Total for Line # 2	28.17
3- 1	Wastebasket, Recycli Quart, Blue, TIBH SP #61595670102	ng, 28 615/95	13.0000	EA	11.56000	150.28	11/13/2015
	Ship To:	1P17 4549 W. Loop 281 Longview TX 75604 United States					
						Schedule Total	150.28
				<u>Req</u> 000	<u>ID:</u> 0001903		
					Iten	n Total for Line # 3	150.28
- 1	Notes, Self-Stick, 3"x Yellow, 100sheets/Pa pads/pk, Skilcraft, SP #61562384000		6.0000	PKG	9.39000	56.34	11/13/2015
	Ship To:	1P08 1925 E. Beltline, Ste. 100 Carrollton TX 75006 United States					
						Schedule Total	56.34
				<u>Req</u> 000	<u>ID:</u> 0001878		
					τ.	n Total for Line # 4	56.34

Authorized Signature Jekushaney, CTP

<u>11/05/2015</u>

Page:	3	of	4
r age.	J	UI.	-

Line-Sch	Line Description	Class/Item	Quantity	UOM	Unit Price	Extended Amt	Due Date
5-1	Tape, Transparent, Re 6Rolls/PK, Skilcraft SP #83220112	efill, 600/80	6.0000	РАК	5.91000	35.46	11/13/2015
	Ship To:	1P08 1925 E. Beltline, Ste. 100 Carrollton TX 75006 United States					
						Schedule Total	35.46
				<u>Req</u> 000	<u>ID:</u> 0001878		
					Iten	n Total for Line # 5	35.46
5-1	Wastebasket, Recyclin Quart, Blue, TIBH SP #61595670102	ng, 28 615/95	26.0000	EA	11.56000	300.56	11/13/2015
	Ship To:	1P08 1925 E. Beltline, Ste. 100 Carrollton TX 75006					
		United States				Schedule Total	300.56
				<u>Req</u> 000	µ <u>ID:</u> 0001878		
					Iten	n Total for Line # 6	300.56
7-1	Wastebasket, Recyclin Quart, Blue, TIBH SP #61595670151	ng, 41 615/95	4.0000	EA	17.62000	70.48	11/13/2015
	Ship To:	1P08 1925 E. Beltline, Ste. 100 Carrollton TX 75006					
		United States				Schedule Total	70.48
				<u>Req</u> 000	l <u>ID:</u> 0001878		
					Iten	n Total for Line #7	70.48
				Auth	orized Signatu	re	

Authorized Signature Gekushaney, CTP

<u>11/05/2015</u>

Line-Sch	Line Description	Class/Item	Quantity	UOM	Unit Price	Extended Amt	Due Date
L	•						
8-1	Privacy Shield for 24" Widescreen Monitor, Skilcraft, TIBH SP #20737741122	207/37	4.0000	EA	102.64000	410.56	11/13/2015
	Ship To:	1P21 600 West Expressway 83 Pharr TX 78577 United States				Schedule Total	410.56
				<u>Req</u> 0000	<u>ID:</u> 0001857		
					Iten	n Total for Line # 8	410.56
9-1	Flash Drive, 4GB, US SP #20432853982	B 2.0 204/32	5.0000	UNT	14.25000	71.25	11/13/2015
	Ship To:	1P00 4000 Jackson Avenue Austin TX 78731 United States				Schedule Total	71.25
				<u>Req</u> 0000	<u>ID:</u> 0001795		
					Iten	n Total for Line # 9	71.25
						Total PO Amount	1136.84
All Shipm	ents, Shipping papers, in	voices and corresponden	ce must be identif	ied with our P	urchase Order N	Number. Overshipments w	ill not be accepted

unless authorized by Buyer prior to Shipment.

Terms and Conditions:

Texas Department of Motor Vehicles Standard Terms and Conditions can be found at: http://www.txdmv.gov/contractors-vendors

Authorized Signature Jekushaney, CTP

<u>11/05/2015</u>